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Should there not be found a Tanna that teaches a Reveyee by
Terumoh and a Chameeshee by Koidesh

OVERVIEW

The X723 said that if ¥y"7 agrees to the 1" of °01° ", there should be a mention
somewhere of a 721702 °¥°27 and a wMpP2 *wnn. Since there is no mention, it proves
that ¥"7 disagrees with the 1" of >"9. Our M»doIN discusses whether there can be a
n"mn wTpa vy,

- 13397 ©INN NNPVY PPYN NRMV Z9NINT INNPYT 'DI0PN U
>"w9 explained that according to the one who maintains that pw» can be

Nnu» others only 12977 -
- 413394113 NYN *YTPa 99929 NNIYN KY

One cannot find a w7IP3 5539 only 333972 (but not XN™IXRTA) —

mooIn disagrees:
- *95y5 YWD 99 1Y NNAYN “H31aYY DINY Y7 I

But through 272y and ;7192% we can indeed find a w7p2 °¥°27 (even RN™MIRTN) as
I explained previously —

mooIn anticipates a difficulty:
- 7w PYUNY Sm5a 312915 YNPN N3N 291 ON 159 NOYAINIT i FRURR)

Pog (in the mid-size lines).
* This includes X" %" on &,7v 77 (and also *"3 according to the X713 on 2,7 that 7% X220 X 7°97)
? The yw is Xnun the (NWX) 223, the *23 is (1) Y2 Rnun, the Y2 is (WHW) apwn Xnun, the APWn cannot be Xnun
anything else n"n. [However if npwn can be n"nn Xnwn, this *w oW apwn can be 0" ((¥°27) WP 2218 H09.]
* The *w™>w apwn will be 5010 the WP 221X to become a 7312777 9721,
> am29 0¥y are wood and frankincense of w7ps which (although they are not 921%) can be axmw 2pn (and be Xnvn
other) on account of WP n2°n. They are not 933X so they can be IR 22pn from 221% and be 22 &nvn and not be
in violation of the rule that 772 RX12 7wV XMV TR,
® 191 77 X,10. The " Y2 touched ("w*>w) 7na9 o°xy, the 711291 28y touched WP Y2 making it a wTPa *¥°27. See
there TIE ‘Thinking it over’ # 4.
TR0 100.
¥ "5 queries whether this w7 nan is effective only to the extent that the 71121 2°%¥ can be 7x®I %apn (but not to
transmit n8M), or perhaps the WP na°n is effective that the 711291 2°¥Y can transmit ARMY (if the 711291 DXy
become a PR [through touching a y7w], whatever they touch will become a "1w, etc.)
? The question on 9" is that since there is a 0" wTpa *v°27 and the only way possible (if we assume Xnv? Tpwn
D°IIR NRAW is 132777) is through the 711291 %%y (being Xnwun the wIpn [see footnote # 6]), so obviously the WP nan
is effective *3w1 NWRA 7192 *1°1Y, for otherwise there would be no n"nn wmp2 *vaA.
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And %"= who queries whether w777 n2on is effective so that we can count from
the 711291 2%V a "N JIRT; this seems to contradict N190IN explanation —

mooin replies:
- My59x NN YIINT 1200

5"9 will maintain that %2R is 1" 218 X»WR by 2wp.

mooIn cites s""wA proof that wTp2 °¥°27 is only 712777 and rejects it:
- (ow1 3,5 mmn) YDA N P93 MY 233 1Y 23nP1 20909910 wIoY N

And that which "21 explained that since w2 °¥°27 is taught in a 712% in P99
wTIP2 I regarding the superiority of w7pa over 77N -
— oNY? 199299 AN PN XM 19297 99 BN
Therefore this proves that w722 *v°27 is only 13397%, the >''1 rejects this poof -
- NV NNV YT 1IN U N2YDY 9395 NIIPIN NNT
For we establish the 71w»n in 730 of wTP2 "¥°27 according to »''9, and v

expounds R»W®S to mean KRS that there can be a 12112 WW -
= 920 2% TYUN TWANI IND 29PT RNIINT WP 2Pa TN DY
Perforce there must be a n'"'» wTIP2 "y29 for we read here the 702 of =“wam
"3 R7AY D02 P MR, the wIpn w2 is 2109 if it touches Xnv 93 even a WwHw -
- 1531 9295 NNMNINT ) 91998
And 1932 is also n'';m Xnv according to 917 929 —

Mmoo anticipates a difficulty:
- TRDNINT ANIDIO XITTINY 159 MNINK MY YNN (2,53 ow) DIIND IINT K

And that which X995 72 X177 ' states in 73337 noon the last five n»y» do not

1991 will agree with *»ax and 7278 72 XX 27 (on X,7) and disagree with X1°21.
"' The (*1w) %23 touched *w*5w 991% which then touched (*¥*27) WP 9IIX.
12 See footnote # 1.
13 See the X3 there 2,83 which states regarding the nY2yn of WP over 717N, WNM IR W MPYA WY XDD 12 X011 "R
91 RNPIRTA ARMIVT X7 1772 097 XN™n2 "o ’nenp. The 35vn of wnpa °¥°27 is from the Xn»na wnn, which have
Nno RXNPMIRT ARMVT RITT.
' Here on this 7.
13 3¢ (literally combining) means if there were two wTpi *22%% in one 22, which were not touching each other, and
a Xnv touched one of the 292X (but not the °73) the rule is that the other 9o8n (which was not touched) is also Xnv
for the "3 is 773¥n (combines) both of them into one unit. 17°X is one of the last five Ny in 73T,
'® Presumably 13 °27 (mentioned on this T1v) is not arguing on the 73w» (QND) in 733 Non. See also 2,30 73N
where the X1n3, discussing the mwn of M8, cites 11 ' as the source of the 7awn. This proves than not all the m>yn
are 112770, for we see here that w7pa °¥21 and 717°¢ (which are mentioned in the last five N9vn) are n"n K.
7 See footnote # 13. wTIP2 °¥°27 and M are from the MININX wnn how can we reconcile this with Nd0IN view that
17°%Y °¥°27 are N''on.
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have (even) a concern of XN 39IRT IRM™IW —

mooIN responds: firstly -
= NF1PYINT D) XY INIIN 12029

The 11''9 is not 73 the word Rn9"IRT (merely AR X177 372 1°9) -
= NHIINT ANNIV X997 90 oY 18N\D1‘1’9 91 1199 ©9) N 179N

And secondly even if we are Xn>7K7 9733, this is the explanation of X977 3775 0%’

RNINT IR -
- Yormno nnb 0nb 150 P10 197 ARMIVA 11 1PPINT 1IY 295 ARNPLY 2NV 79N NYY

That the 210> should not have been X»u» them since they are far from N2,
for according to the 1°7 they should have been 25170,

mdoIn cites another disagreement with >"w7s:
- 20 NV YWIIT XYY NPT 090090 WD Ty

And "2 continued to explain that the one who does not expound X1’ — X»w" -
= 12 N¥D HYIY ARNIV PRY S0IWNID XIN RNV TPI0NTI DIINN NNPVN YIINT 1190 Np9)

He derives that 28 can be 8»un others since we utilize to words?> X7 X»v to

exclude that 572 XX 7R JRMW PR this proves that it can be Xnvn others which are not
12 RX2 —

Mmoo has a difficulty with this 7wA7:
- Baanx 92 NN 299 5ANY NNA PNYY 13529 IIIN

The 5" says this w77 is correct according to »°28 and 737K 92 R7X 27 -
- DIWAPY NI NN NNYYT 21190 927 N9 XYM MMINT XI*29Y YaN

However according to X:1°27 who maintains 211277 927 X%» X p» (that even by

'8 The full statement of X995 72 R1IN " is: ,WTPI NIV 9¥ WY PYIAY P2 WIPH P2 MNWRY Won IR 1w Myn Wy
WIPY 1"2] 1327 372 1713 ,RNTIRTA ARMIVT RIT 2 DORT RNOHP wan 0" ,WIRn NIT0 9 WwYIw 12N R? 9aR wIph Mnx
R? WP N0 2 WY PN [WIP? 1327 112 11A] RDPNIRTA ARMIVT X777 172 9T RNMIN2 ,WTRE N0 9V WYIw PN [172
1127 %72 177 It would seem that according to N9 the bracketed words need to be omitted.
' This means that the 021 were not M3 by WTPA DAL ¥ IwIw 17910 (see previous footnote # 18) by the last five
moyn, for there is no concern of Xn>MRT AN by P71 (since 1211 has only a "1 and this is a *¥>27, or since the
XMV is not touching there is no concern by 1°711). This is what is meant (by RN>RT IRWT X717 172 1°?) that by the
WTPI DY YV Wy P9I in the last mYyn wan there is no concern that it can ever come to 807X a¥mw (however
by the first n9vn wnn there is a concern that it may come to Xn»7IKR7 787w by 120 therefore the 0oon were J13). By
wTp proper however, they are n"in Xnv.
2 See footnote # 1.
2! This refers to X" »" (and *01 ™).
2 In mo,x0 (1nw) XpM. See the X, 7 X
= See X,7> where *»aR maintains that only by P71 we rule the 92 Xnvn 92 PR (but not by w71 11n) and X"ax
maintains that only by 22 Xnvn 921 2°w7p (but not by 7170 19211), therefore since the 70 teaches us by 171 that
72 R¥D IR IWW PR this proves that 79X is Xnvn when it is not 72 XX,
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DO RALA P2 7R 2°wTR) perhaps the 7109 of X171 81w comes for 23WTR (that % PX
991X Rnvn [even] by wp) -

INDL 992 ¥39 YN TWANIN )N NED PUIY NINN MDY
For we may have thought the by o°w7p the rule is that 72X is 773 X219 7@ since

there is the P109 of R Y22 Ya° WK 275 however there is no proof that by 1911 an 92X
can be 0Nk ’non.?

SUMMARY
MooIN maintains that there can be a n"in WMP2 °¥°27 though 1127 %Y. MOOIN is
unsure how we can derive that 79X is 2°71& Xnv» according to X1°21.

THINKING IT OVER

The R"w9nn maintains that 921X can be ¥nvn a non-72 (by 2°w7p) and the v n of
X177 Xnw is that by 99 Xnvn 298 1R 0'w7p.%° However perhaps one can say that the
N of X177 XY is that only it becomes Xnv, but it cannot be Xnvn anything else
(even 12 X¥1'3 18Y) even by nwp!”’

 Since the 10D states XnY 992 ¥2» MWK (99X) WA this can mean even another Y, therefore we need the T of
X177 Xnv that (even) by 22 Xnvn D2 PR WP, but 791X can be Rnvn others (not 93IX) by WP (see R"wHnn), but not
by 17 1n. See ‘Thinking it over’.
¥ See K71 X"wnmn that this question is only according to n", however (according to "X 71"7 *"wn) there is no
question on >0 " since he maintains that by 9218 2Ww7p is 22 Xnvn in disagreement with X121
%% See footnote # 24.
7 See WM TN,

4

TosfosInEnglish.com



